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QUESTION 1

Fusionstorage can flexibly configure 2 copies (equivalent to RAID10) or multiple copies (data availability in the case of 3
copies) according to the security level 11 9) 

A. Yes 

B. Wrong 

Correct Answer: B 

 

QUESTION 2

The region in OpenStck is more like a geographical concept, each region has its own independent 

endpoint. 

The regions are completely separated. 

Remote, but multiple regions share the same () and dashboard. 

A. Nova 

B. Keystone 

C. Glance 

D. Swift 

Correct Answer: B 

 

QUESTION 3

About the Huawei distribution is a virtual switch is correct 

A. Can cover multiple physical servers 

B. Multiple virtual ports can be configured 

C. Multiple uplink ports can be configured 

D. Only one virtual network card can be selected for each vm 

Correct Answer: ABC 

 

QUESTION 4

The permissions of the VPC administrator include: service application, resource usage, VPC management, user
viewing, and alarm viewing. 
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A. Correct 

B. Error 

Correct Answer: A 

 

QUESTION 5

The VIMS heartbeat plane is a Layer 2 network and does not need to communicate with any other planes. 

A. Correct 

B. Error 

Correct Answer: B 
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